EARAROBEEIERT — 2 N— IBISH —F

201746A3H () 3mpR#1A

(1R [

G3 ¥7R3m L (ER)

(4¥18) AITE

ECEE e

[A&4£] 1 7 41,000,000  ~ 2 7% :16,000,000 § . 3 7 :10,000,000 @ 4 & :6,200,000 @ 5 j& :4,100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— N He :59. -1-1- . . MIRHE (EXR)
ilglg| 2711y 7 0 "6 &S s L Rt Rl B AR e
LAFAT=IEK B:YT LYy b =¥ Tr— I
7 | M. Fa—nm 1:59.4 5-5-5-5 |33.6(108.8| 1 | 476 | AXREEE (W)
2178 AX— LA T7— * 54.0 (7E) (+6) *Hﬁﬁﬁ
LF=TANNT N B:X/ =210 BEZZY K
5 o6 | FARHER 1:59.7 3-3-3-3 [ 34.2[104.8| 7 488 | @AE (FH#)
3 </ xJ)70Z b [B] 56.0 (1 3/4) © | ¥ITLyKI5T 5747
L:TZ9v 784K B:AV=-X/=FFX it Tae]
S, =5 [ AITE: TN : -8-7- EHE (EX)
4 ZZXHFY 1 T X 6 oL 1(755::)7 8-8-7-7 |33.7|105.5| 5 (ig) s
X THANAN B Z2XHA-F > puliae ]
o ~ B . S
5 2w/ H 5 fﬁ)ﬂ 1(/]5953 6-5-5-5 |34.1[104.2| 10 | 496 g%g (®E®)
RiF4—TAHA BATENTO—N— 2 1555577 -4
—— CRLE s 7 | fEKt— :59.8 7-7-7-7 | 33.9[104.3 | 4 404 | BEBE (FR)
6 TEZLTRIVE— 54.0 (NF) (12) | EFEAR—LF 1> TZ ()
LF=TANT N BRZLYT K= J—=HrTyp—L
S R 4 6 | C. Jbx—Jb 2:00.0 3-3-3-3 | 34.4[100.3| 2 544 | BIRE (BR)
715|5 VAR Ny % 56.0 (11/2) (0) BisEX
LiARTA MY XIN BiETIY J=HrTp—L
= VLS 47 | BAIEX 2:00.1 9-9-9-10 |33.9|101.0| 6 186 | AEBE (ER)
811 AR 2INT b 56.0 (7€) +2) RS IV
T4 =TA2NT b B ZANRYFIIN=)b () #8a—-FL—->a>@qE77
S ; . > 5 | LB 2:00.2 2-2-2-2 [34.8]945 | 9 4066 | BEB— (EH)
9/8l10/ ST AUT - 56.0 (1/2) (-g) | Ritin=l
A ZA7Y—>re—0O— B:I—-JILZXZ2ZX #"HEI77—L
R . 4 5 | AERH 2:00.3 10-10-9-7 | 34.3| 98.8 | 8 480 | EEFEE (W)
10l7|7| vy FvAE> [B] 5.0 (3/4) -g) | W) RFE-—ZL-3>7
x4 agbhyy B:7Re14Y)yF J =Y Tr—L
@ 21 L
£y 45.8-34 .1
NO>24 L | 12.6-11.6-12.7-12.5-12.2-12.0-11.7-11.5-11.0-11.6
@ I—F—@EBIERL
|S=7r= (x9,10) (3,5)8,2,6,4-1,7
23—7+— [9,10(3,5)(2,8)6,4,1,7
30—4-— (¥9,10) (3,5) (2,8) (6,4) (7,1)
43—+ — (¥9,10) (3,5) (2,8) (7,6,4)1
[ RN
B Op 9 790 794K 8-9 360 & 7-8 600 &R 3-8-9 2,570/
# B 9 200M 3-9 1,120H B E 8-9 850 EE 9-8-3 14,460H
8 120 3-8 500M B H 9-8 2,220M
3 250M

ABICOVWTRDTEEERROODE. TR LIV,




